First Term Examination (8 September 2023)
CLASS IX
PAPER- SCIENCE (SET-A)
Time:3 hr. M.M. 80
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This question paper consists of 39 questions in 5 s
All questions are compulsory. However, an internal choice is provided in some questions. A

student is expected to attempt only one of these questions.

Section A consists of 20 objective type questions carrying 1 mark each.
Section B consists of 6 Very Short questions carrying 02 marks each. Answers 10 these

questions should be in the range of 30 to 50 words.
Section C consists of 7 Short Answer (ype questions carrying 03 marks each. Answers to
these questions should be in the range of 50 to 80 words.

ng 05 marks each. Answer to these

Section D consists of 3 Long Answer (ype questions carryi
questions should be in the range of 80 to 120 words. :
based/case-based units of assessment of 04 marks each with

Section E consists of 3 source-
sub-parts.
Section - A

The slope of V - T graph gives : (1)

e towards the right. The applied (1)

plies a forc
ock and the surface. What will

A block is at rest on a table. A girl ap
between bl

force is equal to the frictional force
happen to the block?
a) it will start sliding towards left
b) it does not move
c) itstarts rotating
d) it will start sliding towards right

avitational force betwegn two objects i F.

The gr
halved without changing distance between them,

would become.
a) F/4 ‘b)F/2 c)F d) 2F
The acceleration due to gravity decreases with

If masses of both objects are (1)
then the gravitational force

a altitude from the (1)

surface of earth.
Which of the following type of matter has the weakest interparticle force of (1)
attraction
a) steam b) liquid water  ¢) sand  d)iron
@)

Which of the following are homogeneous in nature?
i) Ice ii) Wood iii) Soil iv) Air
a) (i) and (iii) b) (i) and (iv) ~ ¢) (i) and (iv)  d) (iii) and (iv)
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The freezing point of water is

7
. ) 273K D) 23K ) 373 K d) 300 K @)
Q8. Which of the following are elements ?

j)  Diamond i) Liquid Mercury jii) Milk V) Glucf’se-i) e )

) o oag  D@amd@ 90 @) L ()
Qo. Liquid ‘X’ has stronger intermolecular forces than liquid Y- will 1t ol

higher temperature than Y.
Q10.  Whatis dispersed phase and dispersion medium in smoke? @

g : i water
Qil.  Cell wall of sclerenchyma tissues becomes Strong rigid and jmpervious tO )

due to the uniform deposition of
a) cellulose b) lipids  ©) suberin  d) lignin

Ql2.  Theliving element present in the xylem is ; )
a) tracheids b) vessels  ©) xylem parenchyma d) xylem fibres
nsible for the growth of | @

Q13. Intercalary meristems are respo
a) roots b) leaves & internodes

c) apices of stem & branches  d) all of these

Ql4.  The phenomenon of shrinkage of piotoplast from the cell wall due to exosmosis in Q)

a plant cell when placed ina hypertonic solution
a) endocytosis b) deplasmolysis d) plasmolysis d) imbibitions
Q15.  Which of the following is the advantage of selectively permeability of the @

membrane? o
) useful molecules enter the call

b) metabolic intermediates remain within the cell

¢) secretions and wastes leave the cell '

cell are destroyed then

e

ts are given — one labeled Assertion
orrect answer to these questions

ect explanation of the assertion.
is not a correct explanation of
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A

.b'wmun t The v,
Lie h(,dy. * of acce

is .
4 NOn-uniform motjon, (1)

Reason . Accele

ration d i
Ue€ to gravity is a constant quantity

- ‘ OR
sertion ; The value of ‘g is9.8 m/s2

Reason ; ius i
Radius is more at the equator than at the poles

Assertion : A mj

t A mixtur . :

bty e of sand and iron filling can be separated by using a magnet. (1)
+ Iron filings and sand form heterogeneous mixture.

Assertion :
Reason?l';‘ilBom chloroplasts and mitochondria are semiautonomous organelles. (1)
L ey are formed by division of pre-existing organelles and contain DNA
ack protein synthesizing machinery.
< ¢ "OR
Assertion : Parenchyma tissue helps in the storage of food in plants.

Reason : Parenchyma tissue is the main seat of photosynthesis.

: Section - B
A particle moves in a circle with radius Scm. Calculate distance and displacement (2)
of a body when it has covered half of the revolution.
A force of 20 N acts upon a body whose weight is 9.8N. What is the mass of the (2)
body and how much is its acceleration? Take g=9.8 m/s? '

Classify the following as physical or chemical change 2
a) Cooking of food =

b) Melting of wax

¢) Cutting of sodium metal with knife

d) Sublimation of iodine

Give reason @

Steam produces more severe burns than boiling water
oration pro S N 0
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g Section - C
y at different times. Calculate (3)

Qi  The graph given below shows the positions of a bod
" the speed of the body as it moves from
< ] v L
~ a) AtoB Yl o
~ b) BtoCand . .
¢) CtoD 4
50 R AR R o T : 7
How much momentum will a dumb - bell of mass 10kg transfer to the floor if it ()
n to be 10 m/s?

falls from a height of 80cm? Take its downward acceleratio
for acceleration due to 3)

Define acceleration due to gravity. Derive an expression
th (M) and universal gravitational constant (G).

gravity in terms of mass of ear

mmixture not compound. Justify your answer by giving 4 ()

Air is considered as

emulsion. Give one example.

1t are the characteristics of the particles of matter (aﬂy two) 3)
do you understand by
Saturated solution (i) unsaturated solution
Give reason for - A3)
In!aaellular spaces are absent in sclerenchymatous tissues.
well labelled diagram to show section of.phloem.
at happens when e (3
b p of gug‘ar syrup is put on
mpared to its surrounding
surrounding
©)
y are equal and

expression for

nig



a) A solution contains 25gm of sugar in 100gm of water. What is the mass (5)
percentage?

b) Classify the following substances as mixture (homo/hetero) or pure
substances. .

i) Sugar dissolved in water

ii) Sand and water

iii)  Carbon dioxide

iv)  Mercury

v)  Blood

vi)  Filered tea

: OR
a) Distinguish between Suspension and colloids on the basis of following
parameters
i) Size
iiy  Filtration criteria
iii)  stability
b) What mass of potassium sulphate (K250s) would be needed to prepare a
saturated solution in 250gm of water at 60°C. The solubility of Kz250s in

water is 16gm at 25°C

Q36. 1) Differentiate between Parrenchyma . ‘ 5)
and collenchymas (give 3 points) :
2) a) Label ‘2’ and b’ in the given figure.
b) Give one function of ‘a’ 101

~ Section-E

its. form. The heat of the sun evaporates the (1x4)
vapour. The evaporation of water takes place

s all the time. Sometimes, it is slow and
aporation is condensation, in which

is due to these two processes. Like
rtant role in nature. Because of
are formed under different
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Q3. Evaporation of water does increase by
a) increase in surface area
b) increase in humidity
¢) decrease in wind speed
d) none of these

Q4. Which of the following is not true?
5 a) Condensation process is reverse of evaporation
= b) Evaporation bring cooling
B ¢) Temperature of a substance remain constant during melting
d) Evaporation is not a surface phenomenon

~ Q38. The speed of an object need not be constant. In most cases, objects will be in non- (1%4)
uniform motion. Therefore we describe the rate of motion of such objects in terms
of their average speed. The average speed of an object is obtained by dividing the
total distance travelled by the total time taken. That is, average speed -total distance
travelled / total time taken. Answer the following.

1) An object travels 20 m in 5 s and then another 20 m in 5s. What is the
average speed in m/s of the object?
a) 4 b) 5 c) 6 d) none of these

2) An object travels 20 m in 5 s and then another 40 m in 5s. What is the
average speed in m/s of the object? ;
a) 4 b) 5 c) 6 d)none of these

- 3) A man starts walking from a point P on a circular field of radius 7 km and
after 1 hour later he comes to same point P after one complete round. find
his speed. (take pi=22/7) e
~ a) 30km/hr  b)40km/hr - ¢) 44km/hr  d) 33km/hr
4) A ma velled on square field of side 10m. He completed one round of
time 2s, 3s 1s and 2s respectively for each side. Find his

gem/s  d7m/s

in certain specific regions. This is because the (1x4)
isternatic tissue, is located only at these points.
resent, meristematic tissues are classified
cells p: oduced by meristem are initially like

w and mature, their characteristics slowly

owing questions (a) to (d) with correct

ng ants and animals?
on 'f_‘or growth
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